
Name: ___________  Addition Multiples of 10 (Sheet 1)




10 + 10 = 	 	 	 	 30 + 20 =  

40 + 10 = 	 	 	 	 30 + 30 =  

10 + 80 = 	 	 	 	 20 + 40 = 

70 + 30 = 	 	 	 	 40 + 50 = 
 

20 +           = 40	    	 	       + 60 = 70	 	  

	   	  + 50 = 100	 	 60 +           = 90 
 

There are 50 people on an airplane. 
30 more people get on the airplane. 
How many people are on the airplane now? 



Name: ___________  Addition Multiples of 10 (Sheet 2)




20 + 20 = 	 	 	 	 10 + 20 =  

30 + 40 = 	 	 	 	 70 + 20 =  

50 + 50 = 	 	 	 	 60 + 20 = 

10 + 40 = 	 	 	 	 70 + 30 = 
 

50 +           = 60	    	 	       + 20 = 50	 	  

	   	  + 30 = 100	 	 20 +           = 80 
 

Ben is 30 years old. 
His dad is 30 years older than Ben. 
How old is Ben’s dad? 



Name: ___________  Addition Multiples of 10 (Sheet 3)




40 + 40 = 	 	 	 	 80 + 10 =  

20 + 30 = 	 	 	 	 60 + 40 =  

30 + 40 = 	 	 	 	 10 + 40 = 

40 + 50 = 	 	 	 	 30 + 70 = 
 

10 +            = 30	    	 	       + 40 = 60	 	  

	   	  + 20 = 100	 	 70 +           = 70 
 

Tilly has 80 bananas and 20 apples. 
How many pieces of fruit does Tilly have? 



Name: ___________  Addition Multiples of 10 (Sheet 1)

10 + 10 = 30 + 20 =  

40 + 10 = 30 + 30 =  

10 + 80 = 20 + 40 = 

70 + 30 = 40 + 50 = 

20 +           = 40	 + 60 = 70

+ 50 = 100	 	 60 +  = 90 

There are 50 people on an airplane. 
30 more people get on the airplane. 
How many people are on the airplane now? 
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Name: ___________  Addition Multiples of 10 (Sheet 2)

20 + 20 = 10 + 20 =  

30 + 40 = 70 + 20 =  

50 + 50 = 60 + 20 = 

10 + 40 = 70 + 30 = 

50 +           = 60	 + 20 = 50

+ 30 = 100	 	 20 +  = 80 

Ben is 30 years old. 
His dad is 30 years older than Ben. 
How old is Ben’s dad? 
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Name: ___________  Addition Multiples of 10 (Sheet 3)

40 + 40 = 80 + 10 =  

20 + 30 = 60 + 40 =  

30 + 40 = 10 + 40 = 

40 + 50 = 30 + 70 = 

10 +            = 30	 + 40 = 60

+ 20 = 100	 	 70 +  = 70 

Tilly has 80 bananas and 20 apples. 
How many pieces of fruit does Tilly have? 
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